

55.

$$y' = e^{\frac{x-y}{2}}$$

$$l_1 \perp l_2 \Leftrightarrow m_1 m_2 = -1$$

$$y' = -e^{\frac{y-x}{2}}$$

$$m_1 = -\frac{1}{m_2}$$

$$(e^{\frac{x-y}{2}})(-e^{\frac{y-x}{2}})$$

$$-e^{\frac{x-y+y-x}{2}} = -e^0$$

$$= -1$$

$$\frac{-1}{e^{\frac{x-y}{2}}} = -1 \cdot e^{-\frac{(x-y)}{2}} = -e^{\frac{-x+y}{2}}$$

Dec 9-11:16 AM

$$65 \quad y' = x - \frac{1}{x^2} \quad y(1) = 2$$

$$a) \quad y' = x - x^{-2}$$

$$b) \quad y(-1) = 1$$

$$y = \frac{x^2}{2} - \frac{x^{-1}}{-1} + C$$

$$1 = \frac{1}{2} - 1 + C$$

$$\frac{3}{2} = C$$

$$y = \frac{x^2}{2} + \frac{1}{x} + C$$

$$2 = \frac{1}{2} + 1 + C$$

$$\frac{1}{2} = C$$

$$c) \quad y = \begin{cases} \frac{x^2}{2} + \frac{1}{x} + C_1, & x < 0 \\ \frac{x^2}{2} + \frac{1}{x} + C_2, & x > 0 \end{cases}$$

Dec 9-11:37 AM

## 6.2 antiderivatives by substitutions

memorize the basic formulas p 332

$$\int u^n du = \frac{u^{n+1}}{n+1} + C$$

what if  $u$  is a function of  $x$ 

$$\int (\sin x)^3 \cos x dx = \int u^3 du = \frac{u^4}{4} + C$$

$$u = \sin x \quad du = \cos x \cdot dx = \frac{(\sin x)^4}{4} + C$$

$$\int (\sin x)^3 \cos x dx = \frac{(\sin x)^4}{4} + C$$

Dec 9-11:47 AM

$$\int e^{\tan x} \sec^2 x dx$$

let  $u = \tan x$   
 $du = \sec^2 x dx$

$$\int e^u du = e^u + C$$

$$= e^{\tan x} + C$$

$$y = e^{\tan x}$$

$$y' = \sec^2 x \cdot e^{\tan x}$$

Dec 9-12:02 PM

$$\int \cot x \, dx$$

$$\int \frac{1}{u} \, du$$

$$\int \frac{\cos x}{\sin x} \, dx = \int \frac{du}{u} = \ln|u| + C$$

$$u = \sin x$$

$$du = \cos x \, dx$$

$$\int u^{-1} \, du \nearrow$$

final  
answer

$$= \ln|\sin x| + C \quad \left( dy = \frac{dy}{dx} dx \right)$$

check: derivative =  $\frac{1}{\sin x} \cdot \cos x$

Dec 9-12:08 PM

$$\int \cot(7x) \, dx$$

$$\frac{1}{7} \int \frac{7 \cos(7x)}{\sin(7x)} \, dx = \frac{1}{7} \int \frac{du}{u} = \frac{1}{7} \ln|u| + C$$

$$\text{let } u = \sin(7x)$$

$$du = 7 \cos(7x) \, dx$$

$$= \frac{1}{7} \ln|\sin(7x)| + C$$

Dec 9-12:15 PM

$$\begin{aligned}
 \frac{1}{2} \int 2x \sqrt{5+x^2} dx &= \frac{1}{2} \int \sqrt{u} du \\
 u &= 5+x^2 \\
 \frac{du}{dx} &= 2x \\
 du &= 2x dx \\
 &= \frac{1}{2} \int u^{\frac{1}{2}} du \\
 &= \frac{1}{2} \frac{u^{\frac{3}{2}}}{\frac{3}{2}} + C \\
 &= \frac{1}{2} \cdot \frac{2}{3} (5+x^2)^{\frac{3}{2}} + C \\
 &= \frac{(5+x^2)^{\frac{3}{2}}}{3} + C
 \end{aligned}$$

Dec 9-12:22 PM

$$\begin{aligned}
 \frac{1}{2} \int_0^1 \frac{2x}{x^2-4} dx &= \frac{1}{2} \int_{-4}^{-3} \frac{du}{u} = \frac{1}{2} \ln|u| \Big|_{-4}^{-3} \\
 \checkmark u &= x^2-4 \\
 \frac{du}{dx} &= 2x \\
 du &= 2x \cdot dx \\
 x=0 \quad u &= -4 \\
 x=1 \quad u &= -3 \\
 &= \frac{1}{2} \ln|-3| - \frac{1}{2} \ln|-4| \\
 &= \frac{1}{2} (\ln 3 - \ln 4) \\
 &= \frac{1}{2} \ln \frac{3}{4} \\
 &= \ln \left( \frac{3}{4} \right)^{\frac{1}{2}} = \ln \sqrt{\frac{3}{4}}
 \end{aligned}$$

Dec 9-12:28 PM